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1 Scientific Notation and Standard Form (Decimal Notation) Notes
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Use 3 exponents, we can reformat numbers. For very large or very small numbers, it is sometimes simpler to
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decimal Point and then al ther scientific notation is fairly simple: (first digit of the number) followed by (
Conversion is fairly simple.

. :I:l:c‘egg 0.900 900_ 000 042 6 in scientific notation,
e, ;:;ﬁc notation. (the number part (as opposed to the ten-to-a-power part) will be "4.36" So | will count how
Ces the decimal point has to move to get from where it is now to where it needs to be:

0.0000000000 36
B

Then the Power on 10 has to be —] |- "eleven”, because that's how many places the decimal point needs to be

moved, and “negative”, because I'm dealing with a SMALL number. So, in scientific notation, the number is
witten as 4.36 » 1o

rest of the digits of the number), times (10 to an appropnate power). The

* Convert 4.2 x 10" to deci al notation. '

Sincg the exponent on 10 is negative, | am looking for a small number. Since the exponent is a seven. | will be
moving the decimal point seven places. Since | need to move the point to get a small number, I'll be moving it to
the left. The answer is 0.000 000 42

* Convert 0.000 000 00S 78 to scientific notation.
Th

is is @ small number, so the exponent on 10 will be negative. The first “interesting” digit in this number s the 5.
“ ) S0 that's where the decimal point will need to go. To get from where it is to right after the 5. the decimal point will
~ need to move nine places to the right. Then the power on 10 will be a negative 9, and the answer is 5.78 x 10-?

Just remember: However many spaces you moved the decimal, that's the power on 10. If you have a small number

(smaller than 1, in absolute value), then the power is negative; if it's a large number (bigger than |, in absolute
value), then the exponent is positive.

Warning: A negative on an exponent and a negative on a number mean two very different things! For instance:

—0.00036 = -3.6 x 10°*
0.00036 =3.6 = 107

36,000 =3.6 x 10* Don’t confuse these!
~36,000 = -3.6 < 10° J-LJ ‘E-}_

Part 1) Wn’t?@angaird. form. | 6 1eroes

1) 482x10°0a0000HRZ 2) 36x10-0,LOOAODL 6 3)179x10+ _O.000(79

4 -s28x10°_—5 28000 5) 4::1&@@706) ~e12x10- ~0C00CDG 1 2.

Wirite each number in scientific notation. -8

-7
- )o.ooooooooogg\foz"’o 8) 0.000 000 041 4.1 X /o 9)0.000 000398 9.96% |0
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@wﬂmm the following. Write the answer in scientific notation and standard form.

idsnnﬂs.mnm%‘ @agnificant digits)  Standard form
L s 2 %jor 0.000 000G p2

-’ 3 (’ 0
14) 912 3.54 x/o 0.,0000C0000035 Y
-ty ()
X
15) g-1s 2.84 X0 0,000c0000000002.9 Y
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oo Q.54 %0 954 000 0cC0BoD
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17) 9" 3.]4=</0 &IHOQOOOJOOO
12
Part 3) Scientific Notation
Write in standard form.
1)191x10°% 2)3.1x107 3)8.46x10°
4)9.182x 10° 5)7.2x1078 6) 1.97x10°° @
Write each number in scientific notation.
7) 0.000 000 027 8) 79,000,000,000 9) 0.000 000 398
10) 123,100,000 11) 0.000 000 05 12) 0.000 000 018
Use your calculator to evaluate the following. Write the answer in scientific notation and standard form.
Scientific notation an fi
13) 7:28 |
14) 812
' |
A 15)- S-IS
16) 6—10'
i o
18) 1278




